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I. Read the text below and answer the questions:  (5 points)
      Our eyes are the most important of our five senses. We receive 80% of our information through our eyes. We also send signals to other people with our eyes. Some eye signals are unconscious. When we look at something nice, our pupils dilate. But when we don’t like something, they become smaller. We cry when we are unhappy and sometimes when we are very happy. But we can also control some eye signals. For example, we can wink at someone or raise an eyebrow. Sunglasses make someone appear  mysterious or dangerous,  because  they hide the eyes and so we can’t  see  the signals.

   We find large eyes more attractive. Children have large eyes in proportion to their heads. Cartoon characters always have large eyes, too. We can’t actually change our eyes, but we can make them look bigger with make-up. Eye make-up is not new. Pictures in the pyramids show that the ancient Egyptians – both men and women- have used it.  False eyelashes can make eyelashes longer. Eye shadow on the eyelids can make the eyes look bigger and more dramatic. Glasses can also make eyes look bigger.

==================================================================================
= Is the size of the pupils a controlled  or uncontrolled signal?

= How can we make our eyes seem wider than they really are?
= How much information do we receive through our senses other than our eyes?

= Give one evidence that the eye make-up is as old as history.
= How do someone’s eyes show whether they like something?

= Give one example from the text about superlative .
= According to the text, what is the purpose of  the glasses?

= “dilate” (line 3) means: …………………………………

= “it” (line 9) refers to  …………………………….
II. Circle the correct answer in the following: ( 5 points )
*We  will take you  backstage if you ………… to see the stars of the show.
        wanted  ,  want  ,  would want  ,  have wanted
*  Jordan = Jordanian         ,        Mexico = ……………………

 *  I …………… .  Let’s go out somewhere.
       am bored   ,   am boring   ,   become boring   ,    bored   
*  Change the following sentence into negative:

        James likes pop music.     

      …………………………………………………

* Jack is 180 c.m.  , Bob is 170 c.m, and their sister Catherine comes between. So:
      …………… is taller than …………… ,but ………………. Is the tallest. 

  *  If Sarah is older than Rolla, we say:
       a.  Rolla and Sarah are old.
       b.  Rolla is not younger than Sarah
       c. Sarah is not as old as Rolla. 

       d. Rolla is not as old as Sarah

  *    How much ……….  ………… tights?

        are this    ,    is this  ,    are those    ,    is those

 *  This shirt is nice, but it is too expensive. This means:

      It is cheap enough                     ,         It is very cheap

      It is not expensive enough         ,        It is not cheap enough    

  *  Make a past continuous question from the following words:

      What / Carol and Jim / eat / in the park

     …………………………………………………………………………….?

  *  Underline the adj. in the following sentence :
      There’s an interesting article in the newspaper. Let’s buy it quickly.
===================================================================

III. Match the words with their meanings : ( 5points )
  backstage         (         )        a..   kind of films

  Dutch              (         )        b.    a place where you can see old things

  compartment   (         )        c.    part of human eye

 safe                   (        )         d.    a small room in a train

 keep an eye on  (        )          e.    opposite of dangerous

iris                     (        )          f.     a kind of clothes

socks                 (         )          g.     related to the Netherlands

museum             (         )           h.    a place behind the theatre where the actors stay

thrillers             (         )           i.      watch carefully

ancient              (         )           j.      very old

                                                 k.      a state in the USA

IV. Complete the text with the comparative or superlative of the adj. in brackets: (5 points)
      California is …………………………………..(famous) state  in  the  USA.   It isn’t
 …………………. (big) state, but it has got ……..……………….. (large) population. It is also
……………. ………………….. (important) state for the US economy. It is ……….……. (rich)
 than most countries in the world. The coast has one of the  ……………..… (good) climates in 
the USA. It is …..…………..… (warm) and …..…………… (dry) than most places. Some 

people would also say it’s …….…………. ………………. (beautiful) state. But California has 

some problems. Los Angeles has one of ……….…………. (bad) crime rate of any US city.

=====================================================================
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I. Read the text and answer the questions below : ( 5 points)

    Our eyes are the most important of our five senses. We receive 80% of our information through our eyes. We also send signals to other people with our eyes. Some eye signals are unconscious. When we look at something nice, our pupils dilate. But when we don’t like something, they become smaller. We cry when we are unhappy and sometimes when we are very happy. But we can also control some eye signals. For example, we can wink at someone or raise an eyebrow. Sunglasses make someone appear mysterious or dangerous,  because  they hide the eyes and so we can’t  see  the signals.

   We find large eyes more attractive. Children have large eyes in proportion to their heads. Cartoon characters always have large eyes, too. We can’t actually change our eyes, but we can make them look bigger with make-up. Eye make-up is not new. Pictures in the pyramids show that the ancient Egyptians – both men and women- have used it. False eyelashes can make eyelashes longer. Eye shadow on the eyelids can make the eyes look bigger and more dramatic. Glasses can also make eyes look bigger.

=====================================================================================
=   How much information do we get by the other four senses?

=  Is winking a conscious or unconscious signal?
= According to the text, what is the purpose of  the glasses?
= How can we make our eyes seem wider than they really are?

= Give one evidence that the eye make-up is as old as history.

= Give one example from the text about superlative .

= Why do people use  make-up?

= “dilate” (line 3) means: …………………………………

=  “they” (line 3) refers to …………………………..

II. Circle the correct answer in the following: ( 5 points )
   *  If you are tired after the journey, you ………. have some time to relax.

       would  ,  will  ,   are  ,  were      

  *   Jordan = Jordanian         ,        Egypt  = ……………………

  *   If you ……………. in football, let’s go and watch a football match. 
       are interesting  ,  interested  ,   are interested   ,   aren’t interesting    

 *  Change the following sentence into negative:

        The students like English courses.     

      …………………………………………………

  *  Bob  is 180 c.m , Catherine is 170 c.m, and their brother Jack comes between. So:

      …………… is taller than …………… ,but ………………. Is the tallest. 

  *  If Rolla is older than Sarah, we say:

       a.  Sarah and Rolla are old.
       b.  Rolla is younger than Sarah.
       c. Sarah is not as old as Rolla. 
       d. Rolla is not as old as Sarah.
  *  How much ……….  ………… boots?
      are this    ,    is this    ,    are those    ,    is those

  *  This lesson is interesting, but it is too difficult . This means:

      It is easy enough                     ,         It is not difficult

      It is not easy enough               ,         It is not difficult enough    

  *  Make a past continuous question from the following words:

      Where / Jim’s friends / sit / in the party
     …………………………………………………………………………….?
  =  Underline the adj. in the following sentence :
      It was a shocking story. I have never ever heard of a story like that.
III. Match the following words with their meanings: ( 5 points )
  theatre                       (          )         a..   kind of food

  Irish                           (          )         b.   hard and long journey

  Luggage rack             (          )        c.    part of human eye

 fast                               (          )       d.   a place where you can watch plays    

 catch someone’s eye    (          )       e.   a kind of clothes

retina                             (          )       f.    related to Ireland

stockings                       (          )       g.     religious place for Christians   

church                           (          )       h.    a shelf in a train, bus,  plane ….

panic                             (          )        i.     attract attention

trek                               (           )        j.      opposite of slow

                                                          k.      quick fear

IV. Complete the text with the comparative or superlative of the adj. in brackets: (5 points)
California is……………. (rich) than most countries in the world. The cost has one of the

  …………… (good) climates in the USA. It is …..………… (warm) and ……...………… (dry)

 than most places. Some people would also say it’s ……….…………. ……………… (beautiful)

 state. But California has some problems. Los Angeles has one of ………….….…………. (bad)

 crime rate of any US city. This state is also …………………………………..(famous) state in

 the USA. It isn’t ………       …………. (big) state, but it has got ……..……………….. (large)
 population. It is also……………..…. ………………….. (important) state for the US economy.
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                                                                                                                                 GOOD LUCk
